
©  Audipack 

 
 

VWM-Basic 
 

“Quick install” video wall  
Installation system 



 ©  Audipack 

For a proper installation the below mentioned tools are needed. 

 
 

 
 



 ©  Audipack 

To configure a Video Wall system see the below items: 
 
VWM-BPH, wall mounting plates that cover the width (maximum or less) of the 
monitors. 

VWM-MA-?-?, Monitor mounting arms suitable for 1, 2 or 3 stacked monitors. The 
type of MA arm is determined by the diagonal and screen height.  
 
In this manual MA-46-3 is being used an an example. 

The monitors are being installed with the by Audipack provided special mounting 
cams. These cams can be inserted at the back of the monitors. There are several cams 
available with different thread dimensions. 



 ©  Audipack 

1. 
Installing the wall mounting plates, the BPH. 
Start with installing the BPH wall mounting plates.  
Start with the centre plate and build up to the left and right. It is allowed that the total 
width of the BPH is a bit smaller than the total width of the monitors. 
 
Be sure the BPH)s are installed level 
 
 
Use enough wall mounting points to secure the VWM to the wall.  
Use as much mounting holes as possible. 

 

2. 
Inserting the MA mounting arms. 
When the BPH are installed it is time to install the mounting arms.  
These arms can easily be installed by clicking them on the BPH.  
The position and width is determined by the monitor mounting cams. 

Tolerance 



 ©  Audipack 

3. 
Good to know before resuming the installation.… 
 
The MA mounting arms are standard equipped with special adjustment features.  
When a small error is being made during the installation of the BPH plates, a small offset 
of 5 mm can be corrected with the MA arms. 
 

Use the M6 screws to level out 
the total MA arm on the BPH.  

Use the M8 bolt to adjust only 
the upper monitor on the MA. 

Use the lower M6 screw to 
adjust the ower monitor on 
the MA arm. 

The center monitor needs no 
adjustment. 



 ©  Audipack 

3. 
Preparing the monitors. 
To install the monitors to the system please install the special cams at the back of the 
monitor. Please select the correct cam with correct winding for a proper installation. 

M6 part. no 392618 

M8 part. no. 392318 

M10 part. no 390618 

4. 
Installing the monitors. 
Once the cams are installed start inserting them one by one in the wall system. 
 
To line out the distance between the MA arms, start by installing the centre screens. 
In this situation the M8 windings can be installed to secure the correct distance. 
 
1 winding is needed to line/out  a 2 x 2 or 2 x 3 system. 
2 windings are needed to line/out a 3 x 2 or 3x3 system. 

Winding 



 ©  Audipack 

5. 
Monitor cables. 
 
 
Attention: 
When the monitor cables are being installed, be sure to use the correct cable length.  
Below illustrated 2 wiring schemes. 
 

 
 



 ©  Audipack 

6. 
Use the below adjustment featurs to perfectly align all monitors. 

Use the M6 screws to adjust 
the height of the totl MA incl. 
screens. 

Use the M8 to only adjust the 
height of the upper monitor. 

Use the lower M6 screw to 
only adjust he lower monitor. 

Use the horizontal screws to 
adjust the correct offset to the 
wall of the MA arm. 



 ©  Audipack 

7. 



©  Audipack 

Audipack's general conditions of sales and delivery apply to all of Audipack's 
deliveries. These conditions can be downloaded from Audipack's website, 
www.audipack.com, or will be sent by post on request. 
  
  
Audipack liefert ausschließlich unter die allgemeine Verkauf- und 
Lieferungsbedingungen von Audipack. Diese Bedingungen sind zum downloaden 
verfügbar auf die Webseite von Audipack, www.audipack.com, oder werden 
Ihnen auf Anfrage per Post gesendet. 
  
  
Alle leveringen geschieden uitsluitend volgens de Algemene Verkoop- en 
Leveringsvoorwaarden van Audipack. Een afschrift hiervan kunt u downloaden 
van de website van Audipack, www.audipack.com, of wordt u op aanvraag 
gestuurd per post. 
  
  
Les conditions de vente et de livraison de Audipack s'appliquent à tous les 
livraisons de Audipack. Cette conditions sont disponible sur le site internet de 
Audipack, www.audipack.com, où seront envoyé par poste sur demande. 

 
 

Audipack reserves the right to make changes in specifications and other information contained in this document without prior written notice. The 
information provided herein is subject to change without notice. In no event shall Audipack be liable for any incidental, special, indirect, or consequential 
damages whatsoever, including but not limited to lost profits, arising out of or related to this manual or the information contained herein, even if 
Audipack has been advised of, known, or should have known, the possibility of such damages. 
 

AUDIPACK 
Industriestraat 2-4 

2751 GT Moerkapelle 
the Netherlands 

  
Tel:  +31(0)795931671 
Fax:  +31(0)795933115 

Email: audipack@audipack.com 
  

www.audipack.com 

 


